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SECTION – I  

1) 312.0  can be expressed in rational form as  

 A) 
111

900
   B) 

900

111
   C) 

10

123
  D)  

900

121
 

2) If  y = 33  - x and x = 29 y+ , then the value of  x – y is  

 A) 3   B) 32    C) 34   D) 3  

3) What would be the coordinates of point S for points P, Q, R and S to form a 

parallelogram?        

  

 A) (4, 2)  B) (2, -1)   C) (4, -2)  D) (3, -1)  

4) The equation of line shown in the graph is 

      

 A) x + y = 0  B) y = 2x   C) y = x  D) y = 2x + 1 

5) If a + b + c = 21 and a2 + b2 + c2 = 155, then the value of ab + bc + ca is  

 A) 127   B) 87    C) 143  D) 64  
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6) The sum of the abscissa and ordinate of a point is 3. If its ordinate is 7 more than 

the abscissa, then the abscissa is  

 A) 4   B) – 5    C) 3   D) – 2  

7) Let x  be the mean of x1, x2, …., xn and y  be the mean of y1, y2, ….yn. If z is the 

mean of x1, x2, …., xn, y1, y2, …, yn, then z  =  

 A) )( yx +   B) 
2

1
 )( yx +    C) 

n

1
 )( yx +   D) 

n2

1
)( yx +  

8) A number from 1 to 11 is chosen at random. What is the probability of choosing an 

odd number? 

 A) 1/11  B) 5/11    C) 6/11  D) None of these  

9) If 25x-1 = 52x-1 – 100, then the value of x is  

 A) 3   B) 2    C) 4   D) 1 

10) If x + y = 5 and xy =6, then the value of x3 + y3 is  

 A) 35   B) 45    C) 30   D) 125 

11) Find the perimeter of the figure obtained by plotting points M(4, 3), N(4, 0), O (0, 0), 

P(0, 3). 

 A) 14 units   B) 12 units   C) 7 units  D) 24 units  

12) If (3, -1) is a solution of linear equation 2mx + 5my =3, then the value of m is  

 A) – 2    B) 3    C) 2   D) – 3  

13) If A, B and C are three sets such that AB = AC and AB = AC then  

 A) A = C  B) B = C   C) AB =   D) A = B  

14) 12 packets of salt, each marked 2 kg, actually contained the following weights (in 

kg) of salt: 

 1.980, 2.000, 2.025, 1.985, 1.990, 2.040, 1.950, 2.050, 2.060, 1.980, 2.030, 1.970 

 Out of these packets, one packet is chosen at random. What is the probability that 

the chosen packet contains more than 2 kg of salt? 

 A) 1/2  B) 1/6   C) 1/4  D) 5/12  

15) The mean of eight numbers is 40. If one number is excluded, their mean becomes 

30. The excluded number is  

 A) 30   B) 130   C) 110  D) 138 

16) At Middle School, 3 out of 5 students make honor roll. What is the probability (in %) 

that a student does not make honor roll? 

 A) 65 %  B) 40 %   C) 60 %  D) None of these  

17) If ABCD is a rectangle in which the coordinate of points A, B and C are (2, 6), (2,0) 

and (4, 0) respectively, then the coordinates of point D are  

 A) (2, 4)  B) (4, 6)   C) (4, 2)  D) (6, 4)  



SHRADDHA GROUP OF INSTITUTIONS 3 

 

18) The graph of linear equation 2x + y = 2 is a straight line which intersects the Y-axis 

at the point 

 A) (2, 0)  B) (0, 2)   C) (0, 1)  D) (1, 0) 

19) If 
ab

c

ac

b

bc

a 222

++  =3, then the value of [(a + b)2  – c2] is  

 A) a2 + b2 + c2 B) 1    C) 0   D) 2c2 

20) The perpendicular distance of a point (5, 8) from the y-axis is  

 A) 5 units  B) 8 units   C) 13 units  D) 3 units  

21) The point (2, 3) lies on the graph of the linear equation 3x -(a-1)y =2a -1. If the same 

point also lies on the graph of the linear equation 5x + (1-2a)y = 3b, then find the 

value of b. 

 A) 
3

1
   B) 

5

1
    C) 

7

1
   D) 

3

2
 

22) If t = 9-4 5 , then find the value of 

2
1








+

t
t  

 A) 320   B) 45 5    C) 36 5   D) 324 

23) Find the product of the following.  

 







+








+ 5

3

2
7

3

2 22 yy  

 A) 128
3

4 24 ++ yy  B) 358
9

4 24 ++ yy   C) 1212
3

4 24 ++ yy  D) 3512
9

4 24 ++ yy  

24) A large basket of fruits contains 3 oranges, 2 apples and 5 bananas. If a piece of 

fruit is chosen at random, what is the probability of getting an orange? 

 A) 4/5   B) 1/2   C) 7/10  D) 3/10 

25) If the coordinates of the two points are L (-2, 3) and M(-3,5), then (abscissa of L)- 

(abscissa of M) is 

 A) -5   B) 1    C) -1   D) -2 

SECTION – II  

26) If a point A lies in between B and C, then 

 A) BC = 
2

1
 AC B) AC = 2.BC  C) AC = BC  D) AB + AC = BC 

27) In figure, PQ || RS, PAB = 70°  

 and ACS = 100°. Determine CAQ. 

 A) 80o   

 B) 70o   

 C) 30o   

 D) 100o 
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28) In a ABC, AB = 5 cm, AC = 5 cm and A = 50o, then B =  

 A) 35o   B) 65o    C) 80o   D) 40o 

29)  In the given figure, AB is the diameter of the circle, CD is the chord equal to the 

radius  the circle. AC and BD when extended intersect at a point E. Find AEB 

  A) 300   

 B) 1600   

 C) 60o   

 D) 90o 

30) In the given figure, there is a triangular children’ spark with sides AB = 7m, BC = 

8m, AC = 5m and AD ⊥ BC. Trees are planted at A, B, C and D. 

 Find the distance between the trees at A and D. 

      

 A) 
2

5
   B) 

2

35
   C) 35   D) 5 

31) The external and internal diameters of a hollow hemispherical vessel are 25 cm and 

24 cm respectively. The cost of painting 1 cm3 of the surface is ₹ 0.05. Find the total 

cost to paint the vessel all over. 

 A) 96.28  B) 100   C) 96   D) 95.82 

32) The construction of a LMN in which LM = 8 cm, L = 45o is possible when (MN + 

LN) is  

 A) 6 cm  B) 7 cm   C) 9 cm  D) 5 cm 

33) In the given figure, PQRS is parallelogram, find the area of PQX. 

       A) 80 cm2  

       B) 40 cm2   

       C) 120 cm2  

       D) 60 cm2 

34) Euclid stated that all right angles are equal to each other in the form of 

 A) An axiom  B) A definition  C) A postulate D) A proof 
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35) An and has a triangular plot PQR as shown in the figure. he sow some flowers in 

the shaded area. Find the area of shaded region. 

 A) (150 6 -84) cm2    

 B) (250 11 -84) cm2  

 C) (200 6 -84) cm2   

 D) (400 11 -84) cm2  

36) A spherical lead of radius 8 cm is recast into a right circular cone of height 128 cm. 

Find the radius of the base of cone. 

 A) 3.5 cm  B) 6 cm   C) 2.5 cm   D) 4 cm 

37) Arrange the following steps of construction of a ABC in which BC = 8 cm, B=600 

and the difference between the other two sides is 3 cm in correct sequence. 

 Step I : From BX cut a line segment BP = 3 cm. 

 Step II: Draw BC = 8 cm. 

 Step III: Construct CBX = 600. 

 Step IV: Join AC. Then, ABC is the required triangle. 

 Step V: Draw the perpendicular bisector of PC, meeting PB at A. 

 Step VI: Join PC. 

 A) II, III, I, VI, V, IV     B) II, III, VI, V, IV, I 

 C) II, IV, V, VI, I, III      D) I, IV, V, VI, III, II 

38) Mr. Singhania purchased a plot which is in the shape of trapezium, whose parallel 

sides are 16 cm and 30 cm long. If its non-parallel sides are 10 cm and 12 cm long, 

then the area of the plot is 

 A) 
7

6552
 cm2 B) 

7

3345
cm2   C) 

7

6478
 cm2 D) 

7

3411
cm2 

39) If h, S and V respectively denote the height, curved surface area and volume of a 

right circular cone, then 3Vh3-S2h2+9V2 is equal to  

 A) 8   B) 0    C) 4    D) 32 2 

40) In the given figure, ABCD is a quadrilateral in which AB = BC and AD = DC. 

Measure of BAD is  

 A) 760   

 B) 840   

 C) 990   

 D) 640 

 

 

 



SHRADDHA GROUP OF INSTITUTIONS 6 

 

SECTION – III (ACHIEVERS) 

41)  Fill in the blanks and select the correct option. 

 i) The distance of point (-6, 8) from origin is__P__ units 

 ii) A point whose ordinate is -5 and abscissa is 3, lies in __ Q _ quadrant. 

 iii) The point (-3,0) lies on _R__ 

  P Q R 

A) 14 III Negative y-axis 

B) 10 II Negative x-axis 

C) 14 IV Negative y-axis 

D) 10 IV Negative x-axis 

42) In the given figure, PQRS is a square and PS is produced to V and PT ⊥ VU where T 

is the mid-point of SR and U is a point on QR. Then,  

 i) State the congruency criteria by which URT  VST. 

 ii) (SR + UR) equals to  

 (i) (ii) 

A) ASA PT 

B) RHS PU 

C) ASA PU 

D) RHS PT 

 

43) Find the ratio of x : y ; z from these equations  

  7x = 4y + 8z;  3z = 12x + 11y  

 A) 4 : 3 : 5  B) 4 : - 3 : 5   C) 3 : 4 : 5  D) 3 : - 4 : 5  

44) In the given figure, PQRS is a rhombus and TSR is an equilateral triangle. If PQR 

= 940, then find the: 

 i) Measure of SPT.   

 ii) Difference between TUR and TPR. 

  (i) (ii) 

A) 170 430 

B) 130 330 

C) 130 430 

D) 170 330 

 

45)  Fill in the blanks and select the correct option.  

 If 
x

x

5

625
125 = , then the value of 5+x  is _____. 

 A) 6    B) 7     C) 72   D)- 7    
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46) Read the given statement carefully and select the correct option. 

 Statement-I: The quadrilateral formed by joining the mid points of the consecutive 

sides of a square is a rhombus. 

 Statement-II: If the sum of a pair of opposite angles of a parallelogram is 146o, 

then the greatest angle of the parallelogram is 107o 

 A) Both Statement –I and Statement –II are true. 

 B) Both Statement-I and Statement –II are false 

 C) Statement – I is true but Statement-II is false. 

 D) Statement – I is false but Statement- II is true. 

47) In the given figure, O is the centre of the circle. If MPN = 340 and PLQ = 1080, 

then find the measure of PNQ. 

 

 

 

 

 A) 740   B) 750   C) 830   D) 850  

48) Read the given statements carefully and select the correct option. 

 Statement-I: The radius of a sphere is 10 cm. If the radius is increased by 5% then 

the ratio of surface area of two spheres will be 40: 41 

 Statement-II: A right circular cone is 5.4 cm high and radius of its base is 3 cm. If 

it is melted and recast into another right circular cone with radius of base 1.5 cm, 

then the height of the new cone is 21 cm. 

 A) Statement – I is true but Statement-II is false. 

 B) Statement – I is false but Statement- II is true. 

 C) Both Statement –I and Statement –II are true.  

 D) Both Statement-I and Statement –II are false. 

49) Fill in the blanks and select the correct option. 

 i) The three angles of a triangle are in the ratio of 3 : 5 :4. If the difference between 

the greatest and the smallest angle is 300, then smallest angle is _P__ 

 ii) In a right angle triangle, the sum of two acute angles is _Q_ 

 iii) The supplement of 

0

4

3
47 








is _R__ 

  P Q R 

A) 600 1800 131.250 

B) 450 900 132.500 

C) 600 1800 131.500 

D) 450 900 132.250 
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50) Read the given statements carefully and state ‘T’ for true and ‘F’ for 

false. 

 i) It is not possible to construct a triangle with sides 7.6 cm, 6.3cm, 

14.2 cm. 

 ii) If in two right triangles, hypotenuse of one triangle is equal to the 

hypotenuse of other triangle, then the two triangles are congruent by 

RHS congruence rule. 

 iii) For a  ABC, if AB = 13 cm, BC = 9.7 cm and AC = 14.3 cm, then the 

greatest angle is ABC.  

 

  

(i) (ii) (iii) 

A) F F T 

B) T F T 

C) F T T 

D) T T F 
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1). Choose the correct alternative that will continue the same pattern and 
replace the question mark in the given series. 

                                    3, 10, 101,?  
(A)10101      (B)10201       (C)10202         (D)11012 

2). Choose the correct alternative that will continue the same pattern and 
replace the question mark in the given series. 

589654237, 89654237, 8965423, 965423, ? 

(A)58965  (B)65423  (C)89654       (D)96542 

3).  Given below is an analogy based on coding-decoding. Fill in the 

blank based on the given coding 

CHAIRS: EJCKTU :: PARROT: ………. 

(A)RCTTQV     (B)RCXXRT    (C)QCTTRV    (D)GHKKXY 

4). What shall come in place of question mark (?) in the given analogy? 

       ? : OZKGLK :: HEAVEN : SVZEVM 

 (A)MONDAY  (B)DONATE    (C)FUTURE   (D)LAPTOP 

5). If DIVINE is coded as AFSFKB, then POWERFUL is coded as 

(A) MLTBDCRI  (B) HLTBNCRI (C) XLHOJVIM  (D) MLWBOCRI 

6). Given below are capital letters in the first line and symbols in the 

second line. Symbols and letters are codes for each other. Choose the 

correct code for the word: HEIGHT  

 
(A) = ÷ ( × =ll   (B) = × ( × =ll (C) = ÷ ( × ll=     (D) = × (÷ =ll 
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7). Pointing to a photograph, a man said, I have no brother or sister but 
that man’s father is my father’s son.” Whose photograph was it? 

(A) His own    (B) His son’s (C) His father’s          (D) His nephew’s     

8).  If A + B means A is the brother of B; A - B means A is the sister of B 
and A x B means A is the father of B. Which of the following means that 
C is the son of M? 

(A) M - N x C + F  (B) F - C + N x M (C) N + M - F x C  (D) M x N - C + F 

9). One morning after sunrise, Vimal started to walk. During this walking 
he met Stephen who was coming from opposite direction. Vimal watch 
that the shadow of Stephen to the right of him (Vimal). To Which 
direction Vimal was facing? 

(A)East  (B)West (C)South  (D)Data inadequate 

10). In the given Venn diagram, the circle represents ‘PhD students’, the 
triangle represents ‘science students’ and the rectangle represents 
‘girls’. The numbers given in the shapes represent the number of 
persons of that particular category. How many girls are PhD students but 
are NOT science students? 

 

(A) 18      (B) 19   (C) 20      (D) 21  
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11).     A word arrangement machine, when given an input line of words, 

rearranges it in every step following a certain rule. Following is an 

illustration of an input line of words and various steps of rearrangement.  

Input: gone are take enough brought station 

Step 1: take gone are enough brought station 

Step 2: take are gone enough brought station 

Step 3: take are station gone enough brought 

Step 4: take are station brought gone enough 

And Step 4 is the last step for this input. Now, find out an appropriate 

step in the following question following the above rule. 

Question: 

Input: car on star quick demand fat 

What will be the third step for this input? 

A) star car demand 
quick on fat 

 B) star quick car demand on fat
 

C) star car quick 
demand on fat 

 D) none of these
 

12). In a class of 60 students where girls are twice that of boys, Laxmi 

ranked 27th from the top. If there are 9 boys ahead of Laxmi, how many 

girls are after her rank?

 A) 23 B) 21 C) 22 D) 24 

13). In the below space an alpha-numeric series is present. Study the 
series carefully and answer the questions that follow: 

1 ! ) G 3 * ! & B @ ) 5 & E & ^ I % # O 7 & ! $ # & 

How many numbers are followed by an alphabet if the second half of the 
series is reversed? 

A) 0                  B) 2                   C) 4                     D) 1 
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14). If 26 # 14 = 80; 5 # 3 = 16; 6 # 5 = 22; then what is the value of 14 # 5?
 

A). 9  B). 4  C). 17  D). 38 

15). If '+' means multiplication, '×' means to divided by, '-' means to add 
and ‘to reduce’ the meaning of ' ÷', then What answer will come from the 
equation?  

20 - 8 × 4 ÷ 3 + 2 = ? 

(A) 16  (B)18  (C)19  (D)41 
 
16). In a row of girls, Kamya is fifth from the left and Preeti is sixth from 
the right. When they exchange their Positions, then Kamya becomes 
thirteenth from the left. What will be Preeti’s position from the right? 

 (A)10th  (B)14th  (C)11 th  (D)18th 

17). Select the odd one out. 

(A) 792 (B)198 (C)973 (D)897 

18). Golu started from his house towards North. After covering a 
distance of 8 km. he turned towards left and covered a distance of 6 km. 
What is the shortest distance now from his house? 

(A)10 km.  (B)16 km. 

(C)14 km  (D)2 km. 

19). Arrange the following words as per order in the Dictionary.  

1. Continue, 2. Conscience, 3. Constance, 4. Content, 5. Conscious 

(A) 4,2,1,5,3  (B) 5,3,4,1,2 

(C) 3,2,1,4,5  (D) 2,5,3,4,1 

20). Choose the odd one. 

(A) OE3     (B) XD6     (C) JB5      (D) PH3 
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21). Which suitable figure will complete the question mark in the below 
figure. 

      

    

22). Select a suitable figure from the Answer Figures that would replace 
the question mark (?). 

 

  

23). Choose the alternative which is closely resembles the mirror image 
of the given combination. 

 
24). Choose the alternative which is closely resembles the water-image 
of the given combination. 

 

25). Select a suitable figure from the four alternatives that would 
complete the figure matrix. 

 

(A)

(C)

(B)

(D)

(A)

(C)

(B)

(D)

(A)        (B)        (C)       (D)
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26). Find out the alternative figure which contains figure (X) as its part. 

 

     
(X)
                

(1)
         

(2) 
        

(3)
        

(4)
 

27). In the following question, five figures are given. Out of them, find the 

three figures that can be joined to form an equilateral triangle. 

 

  28). Find out which of the option figure can be formed from the pieces 
given in figure (X). 

 

29). Select the alternative in which the specified components of the key 
figure (X) are found. 

 

30). Select the figure which satisfies the same conditions of placement 
of the dots as in Figure-X. 

(A)        (B)        (C)       (D)

(A)        (B)        (C)       (D)

 (A)        (B)        (C)       (D)

(A)              (B)            (C)             (D)

(A) ABC        (B) BCD       (C) CDE      (D) BDE
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31). Select a figure from the options which does not satisfy the same 
condition of placement of dots as in Fig.(X).

 

 

 

 

   

 
A)

 

  

Fig. X B) C) D)

32). Count the number of squares in the given figure. 

 

(A)32  (B)30  (C)29  (D) 28 

33). Find the number of quadrilaterals in the given figure. 

 

(A) 6  (B) 7  (C) 9  (D) 11 

34). Count the number of cubes in the given figure. 

 

(A)108  (B)110  (C)112  (D)100 
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35). Which symbol will be on the face opposite to the face with symbol * ? 

(A) @  (B) $  (C)8  (D)+ 

36) Choose a figure which would most closely resemble the unfolded 
form of Figure (Z). 

 

(A)1  (B)2  (C)3  (D)4 

@

- * +
$ 8

@

*
+

* $

+

37). Choose a figure which would most closely resemble the unfolded 
form of Figure (Z). 

 
(A)1  (B)2  (C)3  (D)4 



Space for rough work.

CLASS

9

 

                                               

 

38). Select a suitable figure from the four alternatives that would 
complete the figure matrix. 

 
(A)1  (B)2  (C)3  (D)4 

39). Choose the correct water image of the given figure (X) from 
amongst the four alternatives. 

 
(A)1  (B)2  (C)3  (D)4 

40). Group the given figures into three classes using each figure only 
once. 

 

(A)1,3,7 ; 2,4,6 ; 5,8,9  (B)1,4,6 ; 2,5,7 ; 3,8,9 

(C)1,4,8 ; 2,5,6 ; 3,7,9  (D)1,4,8 ; 2,7,9 ; 3,5,6 
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41). Two cars start from the opposite places of a main road, 150 km 
apart. First car runs for 25 km and takes a right turn and then runs 15 
km. It then turns left and then runs for another 25 km and then takes the 
direction back to reach the main road. In the mean time, due to minor 
break down the other car has run only 35 km along the main road. What 
would be the distance between two cars at this point? 

(A)65 km  (B)75 km  (C)80 km  (D)85 km 

42). There is a family of six persons A, B, C, D, E and F. They are 
Lawyer, Doctor, Teacher, Salesman, Engineer and Accountant. There 
are two married couples in the family. D, the Salesman is married to the 
Lady Teacher. The Doctor is married to the Lawyer. F, the Accountant is 
the son of B and brother of E. C, the Lawyer is the daughter-in-law of A. 
E is the unmarried Engineer. A is the grandmother of F. How is E related 
to F?  

A) Brother B) Sister 

C) Cousin D) Cannot be determined 

43). In a town of 500 people, 285 read Hindu and 212 read Indian 

Express and 127 read Times of India, 20 read Hindu and Times of India 

and 29 read Hindu and Indian Express and 35 read Times of India and 

Indian express. 50 read no newspaper. Then how many read only one 

paper? 

A) 123 B) 231 

C) 312 D) 321 
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44). In the following questions, the symbols δ, @, ©, %, and ★ are used 

with the meaning as indicated below. 

• 'P © Q' means 'P is not smaller than Q'. 

• 'P % Q' means 'P is neither smaller than nor equal to Q' 

• 'P ★ Q' means 'P is neither greater than nor equal to Q'. 

• 'P δ Q' means 'P is not greater than Q'. 

• 'P @ Q' means 'P is neither greater than nor smaller than Q'. 

Now, in each of the following questions assuming the given statements 

to be true, find which of the four conclusions I, II, III and IV given below 

them is/are definitely true, give your answer accordingly. 

Statements J @ F, F δ N, N % H, H © G 

Conclusions       I.  G ★ N   II.  N © J 

                         III. F ★ J   IV. J δ G 

(A) I and II are true (B) I, II and III are true

 (C) I, III and IV are true (D) All I, II, III and IV are true 

45). Eight people A, B, C, D, E, F and H are sitting around a circular table 

facing the centre, with equal distance between each other but not 

necessarily in the same order. A sits third to the left of C. Only one person 

sits between A and G. E sits second to the right of F. F is neither an 

immediate neighbour of A nor G. Only one person sits between B and E. E 

is not an immediate neighbour of D. 

Who is sitting to the right of G? 
(A)D   (B)C   (C)H   (D)B 
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46) Select the figure which satisfies the same conditions of placement of 
the dots as in Figure-X 

                    
 

(A) Both a and b  (B) Both c and d 

(C) Both a and c  (D) Both b and c  

(X)

47). Find the number of triangles in the given figure. 

 
(A) 22  (B) 24  (C) 26  (D) 28 

48). The figure given on the left hand side in each of the following 

questions is folded to form a box. Choose from the alternatives (1), (2), 

(3) and (4) the boxes that is similar to the box formed. 

 

 

(A)1, 2 and 4 only  (B)3 and 4 only 

(C)1 and 2 only  (D)1, 2 and 3 only 

49). A cube is painted red along all its faces and then divided into 64 
smaller identical pieces. How many of the resultant pieces will have no face 
painted? 

(A)24  (B)8  (C)1  (D)0 

(A)        (B)        (C)       (D)
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50). The water image of mirror image of given figure (X) is 

(A)    (B)  

  

          (C)    (D)  
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